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1 FERE B2 fisi -+ R 2 P B4001 HAbL A% | &
2 ] Ie At 7 fifi+ FEAth = 2 Bt B4001 HoAth L7 JEFE % &
3 PN B2 fisi -+ R 2 P B4001 HA L+, A 1% | &
4 TG B2 fisi -+ R 2 B B4001 HAb L+, 1% | &
5 XIF] B2 fisi -+ R 2 B B4001 HAbL A 1% | &
6 KA B2 fisi —+ R 2 B B4001 HAb L+ 1% | &
7 B 5 7 fifi+ FEAith PR 2 Bt B4001 HoAh L JEFE % &
8 2K 5 Hiy 7 fifi+ FEAith = 2 Bt B4001 HoAth L7 JEFE % &
9 25 1R, B2 fisi + R 2 B B4001 HAh L+ A 1% | &
10 R B fisi -+ R 2 B B4001 HAbL 1% | &
11 e B fisi -+ R 2 B B4001 HAbL 1% | &
12 Bk B fi -+ R 2 P B4001 HAb L+ A 1% | &
13 B B2 fisi -+ R 2 B B4001 HAb L+ A 1% | &
14 XI5 % fisi -+ St = 2 Bt B4001 HA L+ A% &
15 TAET ELS fisi -+ St = 2 Bt B4001 HAb L+ A 1% | &
16 781 B fisi -+ St = 2 Bt B4001 HA L+, 1% &
17 PR« R B fisi + SRt = 2 Bt B4001 HAbL % &
18 ERERD « 95K 5 fisi + St = 2 Bt B4001 HAb L+ A 1% | &
19 ER By B2 fisi -+ St = 2 Bt B4001 HAbL 1% &
20 ¥ v B2 fisi + SRt = 2 Bt B4001 HAbL 1% | &
21 OB £ fisi —+ SRt = 2 Bt B4001 HAbL 1% | &
22 &Ry £ fisi -+ SRt = 2 Bt B4001 HAbL % | &
23 AL LS fisi —+ SRt = 2 Bt B4001 HAbL 1% | &
24 EMHE « R ELS fisi -+ St = 2 Bt B4001 HAbL 1% &
25 ik 575 B fi -+ SRt = 2 Bt B4001 HA L+ A% | &
26 BRI - Jm LS fifi+ BEhih R Pt B4001 HhEH JEE % &
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27 B ik B2 fisi + R 2 B B4001 HAb L+ A% | &
28 FET R B fisi + SRR 2 B B4001 HAb L+ % | &
29 BRIt ST B2 fisi + R 2 B B4001 HAbL 1% | &
30 £« MR EAKIR B2 fisi + R 2 P B4001 HAb L+ 1% | &
31 Ti B2 fisi -+ R 2 B B4001 HAbL 1% | &
32 B ERR B fisi -+ R 2 B B4001 HAbL 1% | &
33 Wit £ fisi -+ SR 2 B B4001 HAbL % | &
34 HEM % fisi -+ FERIE 2 B B4001 HAb L+, A% | &
35 SHIHE « WHBUL 5 fisi + R 2 B B4001 HAbL 1% | &
36 JiR 7% B2 fisi + R 2 P B4001 HAb L+ JEFE 1% | &
37 SRS EL o SR S fifi+ FEAfth = 2 Bt B4001 HoAh L JEFE % &
38 H5AT % fisi + R 2 B B4001 HAb L+ 1% | &
39 A= B2 fisi + R 2 P B4001 HA L+, 1% | &
40 2R B2 fisi + FERE 2 B B4001 HAb L+ A% | &
41 AR B fisi -+ AR 2 B B4001 HAb L+ 1% | &
42 HET £ fisi —+ R 2 B B4001 HAb L+, % | &
43 PNFI A £ fisi -+ St = 2 Bt B4001 HAbL 1% | &
44 LI B2 fisi + St = 2 Bt B4001 HAb L+, % &
45 AL 7 fi -+ St = 2 Bt B4001 HAbL % &
46 KT B2 fisi -+ St = 2 Bt B4001 HAbL % | &
47 T AR S fifi+ FEhih Pt B4001 HoAth L7 JEE % &
48 AR LS fisi -+ SRt = 2 Bt B4001 HAbL % &
49 B LS fisi -+ SRt = 2 Bt B4001 HAbL 1% &
50 T 5 fisi —+ St = 2 Bt B4001 HAb L+ 1% | &
51 37 LS fisi -+ SRt = 2 Bt B4001 HAL A% &




